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LOGIC AND PHILOSOPHY
( Theory )

Full Marks : 100
Pass Marks : 30

Time : 3 hours

The figures in the margin indicate full marks for the questions

ALLOTMENT OF MARKS

Q. No. 1 carries 1 mark each : 1x12 = 12
Q. Nos. 2-13 carry 2 marks each : 2x12 = 24
Q. Nos. 14-23 carry 4 marks each : 4x10 = 40
Q. Nos. 24-27 carry 6 marks each : 6x4 = 924

Total = 100
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1. Answer the following as directed :

(2)

wore frcars PR T finn

(@)

(b)

(c)

(d)

(e)

()
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Logic is a ______ science.
( Fill in the blank )
wEREm 25 9Bl R |

(e 31 o= 71 )
Universal negative proposition is represented by the
symbol ___

( Fill in the blank )
RS 1edF e ARCFOT BT 4™ 9 = |

(el 3% et 3/ )
Give an example of one-predicate general proposition.

G TCERS AT o9 o1 Srrzaet i |

What is the name of the subject of the conclusion of

a syllogism?

S Prae’ Soen smeR i [ 2

In a categorical syllogism from two particular propositions /
universal propositions no conclusion can be drawn.

( Choose the correct answer )
b1 fRTeers RS B! RO 904 / SIS 36719 =11 B o =i |
(wm Teehl TR Sfvea )

FERIO is a valid mood of the First / Second / Third Figure.
( Choose the correct answer )

FERIO 29y / f2®% / $Om Sgm3 (34 18 |
(o TEH! AR B )

1x12=12

(3)

(g) Every logical connective connects only ______ propositions.
( Fill in the blank )
PCOIPCHT O FLCIEIR (FT ___ JoacR FC T |
( A O oR T FT)
(h) What is the derivative meaning of the word ‘Philosophy’?
‘Philosophy’ *¢6i Jesifere s 2
(i)- The founder of Yoga philosophy is __
_ ( Fill in the blank )
15 v eifovrer trr
( A 3 o[ )
(/) ‘““Monads are windowless.”” Who said this statement?

‘ISR (R WrEReE A RRIFRN 17 @3 IR @R
- RE 2

(k) In Indian philosophy, valid knowledge is known as
( Fill in the blank )

e TS INY TWAT Qe = |
( 2130 OfX ==t 741 )
(I) The different types of Idealism are Idealism,

Idealism and Phenomenalistic Idealism.

( Fill in the blanks )

oAy [fea PR £ —_—  O[[E M, __ O]REm ¢
SOIPE SIAM |
( A SEIR o =40 )
2. State two points of difference between traditional logic and
symbolic logic. : 1+1=2

Wﬁ"fﬁﬁ%ﬂﬂ@ﬁWWﬁWWﬁﬁﬂ@WﬂWn
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(4)

3. Classify proposition according to quantity. 2
/I PR I CINReIE 341 |

4. Write two points of difference between sentence and proposition.

1+1=2
IR IF 6.9 WIS 01 N e |

5. Define conjunctive proposition with example. 2

TIZIR (IS ISP IvA g i |

6. Write two points of difference between Deductive and Inductive
Inference. | 1+1=2

o= =1 eI TR 151 ~N9 fos |

7. State two rules of conversion. - 1+1=2
SRGS 7B1 T Sy w4 )

8. Write the names of two valid moods of the Second Figure. 1+1=2
el g o1 (39 3 7™ o |

9. Symbolize the following propositions :
TS Tl I6ACILH! AT OIS PP 31

1+1=2

(a) 1t is false that the grass is not green.

261 Ry (@ rgam CTesR 712y |

(b) Either I will go to library or attend the seminar,

2 WX <RSI TN LN EABADFe Sfyre i |
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10. Write the names of two Vedic schools. 1+1=2
5! (M ST i fora o

11. Give two criticisms of Innate Ideas. 1+1=2
SFET© YT BT ST SNSRCERET |

12. Which of the following statements are true? 1+1=2
R (IR S 3] 7
(a) (i) “‘Descartes, Locke, Berkeley and Hume are rationalistic

philosopher.”

TG, WP, A B 2% IRIAM e 1

(ii) “‘Descartes, Spinoza, Leibniz and Wolf are rationalistic
philosopher.””

“coib, Pereare, orRfae ST e IR w1

(b) (i) “‘Logic is concerned with mediate knowledge, not with
immediate knowledge.”

“SHRE AT WA TS TS, AT WAL (57 72y |1°°

(if) ‘‘Logic is concerned with immediate knowledge, not
with mediate knowledge.””

SR 2AOrT TR ForS TS, AT WY A5 w2y |

13. State any two points of difference between Realism and Idealism.
1+1=2
I SF SRS T R I Jor ol Seard 41 |

14, Explain the four-fold scheme of proposition. ’ 4

o9 LI fRorEw I 41 |

/132 [ Contd.



(6) (7))

15. Reduce the following sentences into logical form : 242=4 19. What is truth function? Explain implicative function by giving
truth table for it. =
e - - SN a truth table for i 2+2=4
: AOJ-Fo FIe QAT ? 79 SIfeieprR WREIF I ST Fom AR
(a) All that glitters is not gold. | ,
SHCE DIGRAN I8 G 7= |
20. Distinguish between Science and Philosophy. 4
(b) Only intelligent students can pass the examination. R S P e e efy 79 |
Fee JEM QAR R R T8I 29 AT | |
2 21. Write a short note on Epistemology. 4
16. Explain the figure of a syllogism. 4 | QR 31 S-S 6= GBI 5 (Bl foralt |
|
QiR SHR I | . ‘. ..
REM AL | 22, Write four characteristics of Empiricism. 4

HfweRME BIfRo1 (I8 far |

17. Distinguish between subject-predicate proposition and class-

membership proposition. 4 23. Write short notes on : ' 2+2=4

TrrT- R ST 67 oI IRl 69 e #14y ey 9 | 3 Bt o

- | . . (a) Svarthanumana
18. Reduce any one of the following syllogistic arguments into logical o

form and test its validity : 4 K IERIC

faRRe TR SR R @I @b s$Rerrrre Foe RTe w1 e | (b) Pararthdnumana

TR 3y fRefq 391 RN

(a) Aristotle was a great logician, since he was a philosopher and 24. What is a compound proposition? Define each of the different
all great logicians are philosophers. forms of compound proposition with examples. 2+4=6
ﬂﬁ@’hﬁ@@@?'ﬁﬁ?%ﬁq@éﬂmmww ‘ mmwm?@mwﬁmmwmt © R
TN Bleq TFRCHR T | | o | .

(b) No kings are poor, but all kings are men, so no men are Or /7331
poor. ‘ Define middle term. Discuss its function in categorical syllogism.

|

@A T T T, R T @ W AR, ME @A g - | 2+4=6
TR 7= | o cpeid R | Faeers e e g e 391 |
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(8)

25. Define syllogism. Describe the characteristics of syllogism. 2+4=6
TR SR o | e CIRBPTR 3o 4
Or /&1
Discuss Rationalism as a theory of the origin of knowledge. 6

T Beoife PP Toam f2picel I"am Sgeh! SCEs 4 |

26. Discuss the characteristics of symbolic logic. 6
OISR (IFBRTR AL 341 |
Or /#1&d1

Construct truth tables for any two of the following propositional
forms and find out whether it is tautologous, contradictory or
contingent : 3+3=6

TS 13 PAAS AP [ R @A PR 791 O oo 391 o
G FosTTer, Fo:Ra (1 wfAfE TiRFE fRefT v

(i) ~pvg
(ii) p>(p-q)
(iii) ~ (p-q)

27. Explain any three characteristics of Indian philosophy. 2x3=6

oo i R e fofbr tafEs amam 3=
Or /511
How many Pramanas are accepted in Indian philosophy? Discuss
Pratyaksa as a form of Pramana. 1+5=6
TRON TS @RG A AR 0 R ? AR Bl &4FR RBoieel erery
e st 3/ )
* % %k
/132
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